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因数分解 練習問題２

公式１による因数分解

Ⅰ．次の式を因数分解しなさい。

① x ２＋７ x＋１２ ＝（x＋３)(x＋４）
② x ２＋１３ x＋１２ ＝（x＋１)(x＋１２）
③ x ２＋９ x＋２０ ＝（x＋４)(x＋５）
④ x ２＋１２ x＋２０ ＝（x＋２)(x＋１０）
⑤ x ２＋１０ x＋２１ ＝（x＋３)(x＋７）
⑥ x ２＋１０ x＋１６ ＝（x＋２)(x＋８）
⑦ x ２＋８ x＋１２ ＝（x＋２)(x＋６）
⑧ x ２＋８ x＋１５ ＝（x＋３)(x＋５）
⑨ x ２＋８ x＋７ ＝（x＋１)(x＋７）
⑩ x ２＋８ x＋１６ ＝（x＋４)(x＋４）

＝（x＋４)２

Ⅱ．次の式を因数分解しなさい。

① x ２＋６ x＋８ ＝（x＋２)(x＋４）
② x ２＋９ x＋８ ＝（x＋１)(x＋８）
③ x ２＋１１ x＋１８ ＝（x＋２)(x＋９）
④ x ２＋９ x＋１８ ＝（x＋３)(x＋６）
⑤ x ２＋１９ x＋１８ ＝（x＋１)(x＋１８）
⑥ x ２＋９ x＋１４ ＝（x＋２)(x＋７）
⑦ x ２＋１０ x＋２４ ＝（x＋４)(x＋６）
⑧ x ２＋１１ x＋２４ ＝（x＋３)(x＋８）
⑨ x ２＋１４ x＋２４ ＝（x＋２)(x＋１２）
⑩ x ２＋２５ x＋２４ ＝（x＋１)(x＋２４）

(Pr.No.2623＝Ａ)

因数分解 練習問題３

公式１による因数分解

Ⅰ．次の式を因数分解しなさい。

① x ２＋５ x＋６ ＝（x＋２)(x＋３）
② x ２＋７ x＋６ ＝（x＋１)(x＋６）
③ x ２－５ x＋６ ＝（x－２)(x－３）
④ x ２－７ x＋６ ＝（x－１)(x－６）
⑤ x ２＋５ x－６ ＝（x－１)(x＋６）
⑥ x ２－５ x－６ ＝（x＋１)(x－６）
⑦ x ２＋ x－６ ＝（x－２)(x＋３）
⑧ x ２－ x－６ ＝（x＋２)(x－３）
⑨ x ２－５ x＋４ ＝（x－１)(x－４）
⑩ x ２－４ x－１２ ＝（x－６)(x＋２）

Ⅱ．次の式を因数分解しなさい。

① x ２＋２ x＋１ ＝（x＋１)(x＋１）
＝（x＋１)２

② x ２－ x－６ ＝（x－３)(x＋２）
③ x ２－ x－３０ ＝（x＋５)(x－６）
④ x ２－ x－１２ ＝（x＋３)(x－４）
⑤ x ２－４ x－１２ ＝（x－６)(x＋２）
⑥ x ２－１１ x－１２ ＝（x＋１)(x－１２）
⑦ x ２－８ x＋７ ＝（x－１)(x－７）
⑧ x ２＋６ x＋５ ＝（x＋１)(x＋５）
⑨ x ２－１１ x－１２ ＝（x＋１)(x－１２）
⑩ x ２＋５ x－１４ ＝（xー２)(x＋７）

(Pr.No.2624＝Ａ)

因数分解 練習問題４

公式１による因数分解

Ⅰ．次の式を因数分解しなさい。

① x ２－６ x－７ ＝（x＋１)(x－７）
② x ２－ x－２０ ＝（x＋４)(x－５）
③ x ２＋ x－２０ ＝（x－４)(x＋５）
④ x ２－１１ x＋１８ ＝（x－２)(x－９）
⑤ x ２＋１０ x＋９ ＝（x＋１)(x＋９）
⑥ x ２－１０ x＋１６ ＝（x－２)(x－８）
⑦ x ２＋ x－１２ ＝（x＋４)(x－３）
⑧ x ２－ x－１２ ＝（x－４)(x＋３）
⑨ x ２－２ x＋１ ＝（x－１)(x－１）

＝（xー１)２

⑩ x ２＋ x－６ ＝（x＋３)(x－２）

Ⅱ．次の式を因数分解しなさい。

① x ２－４ x＋４ ＝（x－２)(x－２）
＝（x－２)２

② x ２－７ x＋１２ ＝（x－３)(x－４）
③ x ２－８ x＋１２ ＝（x－２)(x－６）
④ x ２＋４ x－１２ ＝（x＋６)(x－２）
⑤ x ２－２ x－８ ＝（xー４)(x＋２）
⑥ x ２－１０ x＋２４ ＝（x－４)(x－６）
⑦ x ２－３ x＋２ ＝（x－１)(x－２）
⑧ x ２＋２ x－３ ＝（x＋３)(x－１）
⑨ x ２－ x－４２ ＝（x＋６)(x－７）
⑩ x ２＋ x－２ ＝（x＋２)(x－１）


